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Note : Answer any five questions. All questions
carry equal marks. Simple calculator 1is

allowed.

1. What is Statistical Survey ? Explain different

steps in statistical survey. 10

2. Explain the following : 5+5
(1) Features of a good questionnaire

(1) Properties of Arithmetic Mean
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3. Find Arithmetic Mean of the following data : 10

Class Interval Frequency
0—5 5
5—10 7
10—15 10
15—20 8
20—25 6
25—30 4
4. Given :
Q1 =31.75, Q2 = 42.56, Q3 = 62.62 .
Find : 10

(1) Inter-quartile range
(1) Quartile deviation
(i11) Coefficient of quartile deviation

5. You are given the following raw sums in a

statistical survey of two variables X and Y :
>X =240, £Y = 250, £X% =6400, TY* = 7000

Ten items are included in each survey.
Compute standard deviation of the X and Y

variables. 10
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In a frequency distribution the coefficient of
skewness based on quartiles (Bowley’s
coefficient of skewness) 1s 0.6. If the sum of the
upper and lower quartiles is 100 and median is
38, find the value of upper quartile and lower
quartiles. 10
Explain the following : 5+5
(a) Histogram
(b) Pie diagram
Write short notes on the following : 5+5
(a) Application of Ratios

(b) Formal and Informal Interview
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